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7| At FAH(HY:2) 7|15 X+H ZAH(H- )
ZAIS|A H|HO|TIELHA 20,000,000 MEHEHEMOA 100,000
ESFSINI=I=ZES 13,122,219 QECIIY(RESZHLRIQIT) 100,000
A2 A 10,000,000 HAZE 100,000
SH2OITHIH L -2I(ZF) 5,000,000 S} 100,000
X 5,000,000 o] 100,000
(F)N7|24 5,000,000 CIXpolml 100,000
RAISIAL D2|EEM 2,000,000 (FEHUSLIXIR 100,000
(FaL2te 1,000,000 T72A 100,000
0|7]4 1,000,000 (FPHIMYET |& 100,000
0%l 1,000,000 HMEHIDIAHZLH) 100,000
zaa 1,000,000 0718t SAXt2]) 100,000
OIS 1,000,000 OtESIRZH|(ZLLR) 100,000
WIE|5H0) 800,000 0|7 FAIEH(ZE 5 100,000
2IO[QE FAIS|Ab 740,348 ZI=H| 0|74 2|(LX|H EZ O E A7} 50,000
MUE 500,000 ANHEZSHAAL 50,000
HH & 500,000 (F)gZlojofolofl A 50,000
pSESel] 500,000 HMUEA 50,000
456t 500,000 SH7|(HSCIRtOl) 50,000
AHS 500,000 HIX|ZE(EHS) 50,000
s 500,000 A CH A A2t 50,000
0[51 500,000 Mo 50,000
SEA 500,000 21ER 50,000
AMAX 500,000 IME 50,000
Z14-0f 250,000 0l A i 50,000
PA[W 200,000 Hit g 50,000
M|7|Of| ZZOHM| () 100,000 UFsS 50,000
(F)22|0t0|E| 100,000 MEF 50,000
7| 50,000 23|y 30,000
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N FAH(HY:2) 7|15 X+H ZAH(H- )

LI (ESSYTAA2) 50,000 ur5 4 30,000
SHYA 50,000 =HE 30,000

MBS SUTAIAZ]) 50,000 HrAXI 30,000
S 50,000 AMEE 30,000
Z24A 50,000 4R 20,000
R 30,000 Udsst 10,000
de= 30,000 A 10,000
Parals 30,000 olHZ& 10,000
U4 30,000 Ay 10,000
&y 30,000 B 10,000
VI 30,000 a4 10,000
SN 30,000 UES3| 10,000




